P N
A A 4

1. Know your tripod Kit 2. Center Column 3. Ball Head and Center Column Operation 4. Macro shooting

INSTRUCTIONS

3T Series Tripod Kit

Zhongshan SIRUI Ph

114 = w bﬁ 3/8” Screw
) " screw f . .
Professional Photographic Equipment Quick Release . Mounting Platform [ 1/4” Screw )
Clamp Locking Knob Locking Screw ~ o & 1/4” Screw
Support Ball ) e
” Main Body Ball Head /g
Ball Head

Address: The Third Industrial District, Wuguishan Town, Zhongshan City, Guangdong, China

E-mail: info@sirui-photo.com

grap

http://www.sirui-photo.com

SIRUI

Industry CO.,Ltd

http://www.zssirui.com

Quick Release
Plate

Panning Base

Mounting
Platform Base

Locking Knob
Mounting Platform
Center Column
Locking Knob

2-section Center
column

Center Column

Tripod Leg Locking Screw

Locking Knob

Belt Hook

Short Center Column

5. Increased reach/
self-portraits/
remote videg

Option 1

Extending and Closing

Locking Screw

Locking Screw -,

7

\)
Option 2
( self-portrait)

Center Column ‘.‘a'/:%
‘e

1/4” Screw —==

Security Pin
' h

/Z Allen Key

7. Using the Short Center Column

Tel: 0086-760-88897373  Fax: 0086-760-88207062  P.C: 528458
Service Hotline: 0086-400-8302299 1.Know your Tripod the QR Plate by lifting it in “i" direction. To attach the ~ Attention:
QR Plate, loosen the QR Clamp Locking Knob “h” in ) .
2.Center column height adjustment a counter-clockwise direction, place the QR Plate into Do not exceed the recommended load limit of the head and/or tripod. (Please refer to product
1@ 3L 02 @ @ (D As shown in Fig 2, turn the Center Column Locking the QR Clamp and tighten the QR Clamp Locking specifications).
-F S v v _ Knob “a” in a counter-clockwise direction, then you Knob by turning in a clockwise direction. Make sure A ) )
5 g 5 g 5 g can adjustment the center column height. the clamp is completely locked before releasing your Please make sure that the locks are securely tightened when in use.
. 2funf 08 nl nfns . - camera. . R , "
! 52 3 = 9§ g = o3 gﬁ SE @ When you rleach the“ d,,e,s'fed he'gh,l‘ tulrn (?emer This product should not be used in environments that exceed the following conditions (-40 ~ +100°C/-
R So 83 8283 3243 ICO:(utmhn Loctklng Il(nob a" in a clockwise direction to 4.Macro/Low angle Shooting *§ 40~ +212°F). And, when used in damp, dirty or dusty environments, please clean and dry thoroughly
£ T8 % % %¢g ock the center column. Aft ina th " | ttach the ball head after use, to assure proper functioning in the future. It is not recommended to expose this product to
= 3 < = = . er removing the center column, attach the ball hea saltwater. If exposed, please clean with mild soap and warm water and towel dry.
s ¥ 5 % 5 % 3.Ball head and center column operation to make macro/low angle shots from interesting
o on < E ns < E ns < E (DRemove/replace the center column: Loosen the Center positions. -)é(— Please keep from high temperatures and direct exposure to bright sunlight for extended periods of time.
= EE I3 58 33 58 33 58 Column Locking screw in a counter-clockwise 3 . .
g8 & 2 “3 & E =3 d 3; =3 direction and unscrew the center column by turning in 5.Increaseg| rgachlse!f portraits/remote wdeo; Please do not leave the equipment alone in a public place, which can be an inconvenience or hazard to
oz 2 g = % a counter-clockwise direction. To replace, place the As shown in Fig 5, folding down the three legs can give others.
p p p center column on the 3/8” screw and turn clockwise you added reach to see over a crowd or conveniently
T § T ¢ T g until tight. Tighten the Center Column Locking screw position the camera for self-portraits or remote videos. y% To protect your camera gear, please remove it from the tripod/ball head when transporting from place to
T 8.5 F .3 B ght. Tig g y 9 g
% < ~ < ~ < ~ A : : : ;
35 MmE SF MEZ ST M oS3 by turning in a clockwise direction with the Allen Key. . . . place.
'—< 5 95 St 35§t 38 §:% Do not force or over tighten. 6.Opening/closing the tripod
=F TENE TENE NS @ Removing/replacing the ball head: Turn Ball Head To open the tripod, fold down the three legs and hold b Please use a soft towel with mild soap to clean the locking system and gliding parts, when necessary.
T & T & T & Locking Knob “d” in a clockwise direction to lock the Center Column “b". Make sure the legs are positioned
_ _ _ under the Tripod Leg Locking Knob and turn the Tripod Under most situations, there is no need to lubricate any parts of this product. The addition of most
ey 5 5 5 ball head and base. Use the Allen key to loosen the 4 N N ! X L . : ! e L
E § g ;‘;% g E g Ball Head Locking screw “g”, turn the ball head in a Lfeg Locking Knob ina clockwise dlrgctlon until it stops. i Iubngantg will gum up the mephamsms ar)d reduce their normal gliding characteristics. Please call or
< 5% §f N §f hE] §f N counter-clockwise direction to remove it from the Lift the legs up until they engage with the base of the email us if you have any questions or special needs.
5F N8 5Ne N8Rt RE 5. - ; Tripod Leg Locking Knob. You can now place a camera
SE Bs %3 Rg "3 %8s 73 platform. To replace, turn the ball head in a clockwise i i Please keep this product away from all electrical power sources
s EE ERE E direction, tighten screw “g” by turning Allen key in a on the.tnpod. To close_, move the_ feet down slightly, tgm ; p this pi y p -
o] e o E - E " 2 clockwise direction. Do not force or over tighten. the Tripod Leg Locking Knob in a counter-clockwise
o < f% S 9 g (® Removing/attaching Mounting Platform: Use the Allen célr'lactlon and fold the feet up until they touch the Center
> SE ©» w w key to loosen the Mounting Platform Locking Screw “f’ o ur_nn. . .
X 25w n in (turn counter-clockwise), turn the Mounting Platform Note: when the tripod legs are fglded'up, they provide
o] D ,xzzi < < g and screw counter-clockwise and remove the an excellent grip when shooting videos!
o = - h Mounting Platform. To attach, turn the Mounting .
_E— 38 g S S Platform and screw in a clockwise direction, until tight, 7. Usmg the $hort Center Column
|= 3t 9 = = and use the Allen key to tighten the Mounting Platform The tripod with Short Center Column, folds down to
“ _ Locking screw. Do not force or over tighten. Use the 148mm.without the ball head and 213mm with ball head
] \ g« ~ ~ same method to reverse the 1/4” and 3/8” screw. and quick release plate attached. The Short Center
S 2 @Remove/attach QR Plate: turn the QR Clamp Locking Column lets the 3T-35 tripod fold shorter than the
w o o o Knob “h” in a counter-clockwise direction to loosen the l‘?'ﬁts?"pt'”g clenter column - making it easy to carry and
; ight for travel.
- E E f QR Clamp. When the QR Clamp is fully open, remove 9 Specifications are subject to change without notice.
m o ) m



	页 1

